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ﬁg TREOBBOESLADKRES TREOHBESILNDOKRES TREOBHBOEILADKRES TREDOHBERILHDOKRES
&5 X 4 & | TSR ADKES K 4 THNSDKE| F ADKES X 4 Z& | LEEronlkE ADKRES & 4 Ltimhontks | g ADKES
(m) (m) (kN/m) 2B AE(m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
’ 100kN/m%Z#B% % 1.00{ 000 ~ 1.40 124.06|3mZ#BZ 5| - ~ = -] 100kN/MZ#B 2% 1.00| 13.08 ~ 22.16 124.06|3m%#B 2% =~ = = =
Zh st 1.00| 1.40 ~ 8.08 100.00] #n st | 000 ~ 8.08| 267 11.74 Zh LS 1.00] 500 ~ 13.08 100.00] Z#nlist | 500 ~ 2216 267 11.74
9 100kN/m#%#BZ % 1.00{0.00 ~ 1.54 126.57|3m%#BZ 5 -~ = = —| 100kN/m%#B 2% 1.00] 1260 ~ 21.19 126.57|3m%ZHB %% .~ - - -
Zh st 1.00| 1.54 ~ 822 100.00] #h st | 000 ~ 822| 2.80 12.34 Zh LS 1.00] 500 ~ 12.60 100.00] #nlist | 500 ~ 21.19] 2.80 12.34
3 100kN/m#%#BZ % 1.00(0.00 ~ 157 127.13|3m%#BZ 5 -~ = = —| 100kN/m%#B 2% 1.00] 12.72 ~ 21.21 127.13|3m%EHBZ % .~ - - -
Zh st 1.00| 1.57 ~ 8.26 100.00] #h st | 000 ~ 8.26| 2.90 12.76 Zh LS 1.00] 500 ~ 1272 100.00] Zhlist | 500 ~ 21.21] 290 12.76
" 100kN/m%Z#B % % 1.00{ 000 ~ 1.39 123.92|3m%#%5%| 000 ~ 0.14] 3.10 13.64| 100kN/mM#%#B 2% 1.00| 13.84 ~ 21.63 123.92|3m%#8% %[ 20.00 ~ 21.63| 3.10 13.64
Zh st 1.00|1.39 ~ 8.08 100.00] #h st | 0.14 ~ 8.08| 3.00 13.20 Zh LS 1.00] 500 ~ 13.84 100.00] #xList | 500 ~ 20.00] 3.00 13.20
5 100kN/m%Z#B% % -l -~ = -|3m%# 25| 000 ~ 0.14] 3.13 13.77| 100kN/mM#Z# 2z % = -~ = -|3m%#82%|15.00 ~ 1947| 3.13 13.77
Zzh st 1.00/ 0.00 ~ 6.30 93.67| #hbLis 014 ~ 6.30] 3.00 13.20 Zh LS 1.00] 500 ~ 1947 93.67| #hbLis | 500 ~ 15.00| 3.00 13.20
6 100kN/m%Z#B% % -l -~ = -|3m#%# 25| 000 ~ 089 3.89 17.12| 100kN/mMZ# 2z % = -~ = -|3m%#82%|10.00 ~ 20.12| 3.89 17.12
Zh st 1.00/0.00 ~ 511 75.10] #hbist |089 ~ 511| 3.00 13.20 ZhLS 1.00] 500 ~ 2012 75.10] #hbList | 500 ~ 10.00| 3.00 13.20
; 100kN/mM#Z 8% % o = -|3m#%# 2%/ 000 ~ 088| 3.88 17.08| 100kN/m#Z# %% = -~ = -|3m%#2%|10.00 ~ 2055| 3.88 17.08
Zh st 1.00/ 000 ~ 5.20 76.48| #hbLis 088 ~ 520| 3.00 13.20 Zh LS 1.00] 5.00 ~ 2055 76.48| #hLis | 500 ~ 10.00| 3.00 13.20
8 100kN/m#Z#8 %% o = -|3m%# 2% 000 ~ 038] 3.40 14.96| 100kN/mMZ#x% = -~ = -|3m%#82%|10.00 ~ 19.64| 3.40 14.96
Zh st 1.00/0.00 ~ 511 7501 #hbist 038 ~ 511] 3.00 13.20 ZhLS 1.00] 500 ~ 19.64 7501 #hbList | 500 ~ 10.00| 3.00 13.20
9 100kN/m#Z 8% % o = -|3m%# 25| 000 ~ 039 342 15.04| 100kN/mMZ# 2z % = -~ = -|3m%#82%|10.00 ~ 18.29| 3.42 15.04
Zh st 1.00/ 000 ~ 485 71.14] Zhbiis 039 ~ 485] 3.00 13.20 Zh LS 1.00] 500 ~ 1829 71.14] #hbis | 500 ~ 10.00| 3.00 13.20
10 100kN/m#Z#8 %% o = -|3m%# 2%/ 000 ~ 017| 3.16 13.88| 100kN/mZ# %% = -~ = -|3m%#82%|15.00 ~ 1530 3.16 13.88
Zh st 1.00/ 000 ~ 548 80.71] #hLlst | 017 ~ 548 3.00 13.20 ZhLS 1.00] 500 ~ 15.30 80.71] #hbLis | 500 ~ 15.00| 3.00 13.20
11 100kN/mM#Z#EZ % -l -~ = -|3mZzBRB| - ~ = = -| 100kN/mM%#B 2% = -~ = -|3m%E#BZ5 ol ~ = - -
Zh Lt 1.00|/ 0.00 ~ 424 62.14] Zhlist | 000 ~ 4.24| 229 10.10 ZThLs 1.00] 500 ~ 929 62.14] #hiist | 500 ~ 929| 229 10.10
19 100kN/m%#E% % -l -~ = —-|3mZzBRB| - ~ = = —| 100kN/mM%#B 2% = -~ = -|3m%EBZ5 ol ~ = - -
Zh LSt 1.00/ 000 ~ 541 79.65| #nlist | 000 ~ 541| 1.87 8.24 ZThLs 1.00] 500 ~ 876 79.65| #hiist | 500 ~ 876| 1.87 8.24
100kN/mM%Z#E% % ~ ImEHBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lt ~ Zh s ~ Zh st ~ ZhLs ~
100kN/m%Z#E% % ~ ImEHBRD ~ 100kN/m%Z#B% % ~ ImERZS ~
Zh st ~ Zh s ~ Zh st ~ ZhLst ~
100kN/m%Z#E% % ~ ImEHBZD ~ 100kN/m%Z#B% % ~ ImERZS ~
ZHUs ~ Zh LS ~ Zh st ~ Zh s ~ |
=5FR



